
DÉVELOPPEMENTS

Développer chacune des expressions suivantes.

. 2(x+ y)
. 2(x − 3)
. (2− x)× (−5)
. 3a(b+ 2)
. 12a(3− 4b)
. 2(x+ 1) + 5(x+ 1)
. 4(x+ 2)− 4
. (x+ 2)(x+ 3) + 5(x+ 2)
. (x+ 4)(x − 3)(x+ 1)− x2(x − 3)
. (x − 6)(x+ 6)

. (2x − 5)(2x+ 5)
. (x+ 7)2 − (x+ 7)(x − 2)
. (x − 1)2

. (3x − 1)(2 + 3x)− (3x − 5)2

. (9x+ 1)2 − (x+ 5)2

. (2x − 1)2

. (5− x)2 − (2x − 2)2

. 1− 4x2 − (1− 2x)(2 + x)
. 1− 4x2 − (1− 2x)(1− 4x)
. x(x − 1)− x(−2x+ 8)

b 2x +2y
b 2x − 6

b −10+5x

b 3ab +6a

b36a− 48abb 7x +7

b 4x +4

b x2 +10x +16

b5x2 − 11x − 12 b x2 − 36

b4x2 − 25
b 9x +63

b

x2 − 2x +1
b 33x − 27

b80x2 − 8x − 24 b 4x2 − 4x +1

b 21− 2x − 3x2

b −2x2 − x − 1

b 6x +12x2

b 3x2 − 9x

b 2x + y
b 2x − 3

b −10− 5x
b 3ab +3a2

b −12ab

b 7x +1

b 4x +8

b x2 +5x +16

b (x − 3)(x +4− x2)
b x2 +36

b 2x2 − 25
b 14x +63

b x2 − 1

b 6x2 +3x − 27

b 80x2 − 24

b 2x2 − 4x +1

b 29− 18x − 3x2

b −6x2 − 3x

b 6x − 24x2

b−x2 − 9x

E:\Travail\2022_23\maths\classes\2nde\exos\developper /


